# SOME ARITHMETIC OPERATIONS ON REARWARD AND MUTATED FUZZY NUMBERS 

K. P. DEEPA

Assistant Professor<br>Department of Mathematics<br>Milad E Sherief Memorial College<br>(Affiliated to University of Kerala)<br>Kayamkulam, Alappuzha-690502, Kerala, India<br>E-mail: kpdeepa33@gmail.com


#### Abstract

This paper forwards a new concept of fuzzy numbers with membership function in a reverse direction called Rearward membership function. Extending the idea of Rearward fuzzy numbers to Mutated fuzzy numbers, in particular, triangular rearward fuzzy numbers to mutated triangular fuzzy numbers and trapezoidal rearward fuzzy numbers to mutated trapezoidal fuzzy numbers with their graphical representations. It also explains the addition and scalar multiplication of Rearward and Mutated Fuzzy Numbers.


## 1. Introduction

Lotfi. A. Zadeh was first introduced the concept of fuzzy sets. This set theory intended to develop an idea for mathematical uncertainty and vagueness for dealing with more problems regarding this. Fuzzy numbers are an extension to real numbers (real intervals) with membership function. Triangular and Trapezoidal fuzzy numbers are the most commonly used fuzzy numbers. Fuzzy numbers are convex normalized fuzzy sets. This paper introduces a new concept of reverse membership function called rearward membership function. This concept is mainly deals with rearward triangular and rearward trapezoidal fuzzy numbers. Again extend the concept of Rearward membership function together with Membership function gives a new fuzzy number called Mutated fuzzy number.

## 2. Preliminaries

Definition 2.1 (Fuzzy Sets). Fuzzy sets are uncertain sets whose elements have degrees of membership between 0 and 1 . A fuzzy set is defined in terms of a membership function.

Definition 2.2 (Fuzzy Numbers). A fuzzy number is a normalized convex fuzzy set on the real line, which is upper semi continuous.

Definition 2.3 (Triangular Fuzzy Numbers). A fuzzy number is a triangular fuzzy number denoted by $(a, b, c), a, b, c \in R$ if its membership function is

$$
\mu_{A}(x)- \begin{cases}0, & \text { for } x<a \\ \frac{x-a}{b-a}, & \text { for } a \leq x \leq b \\ \frac{c-x}{c-b}, & \text { for } b \leq x \leq c \\ 0, & \text { for } x>c\end{cases}
$$

Definition 2.4 (Trapezoidal Fuzzy Numbers). A fuzzy number is a trapezoidal fuzzy number denoted by $(a, b, c, d), a, b, c, d \in R$ if its membership function

$$
\mu_{A}(x)- \begin{cases}0, & \text { for } x<a \\ \frac{x-a}{b-a}, & \text { for } a \leq x \leq b \\ 1, & \text { for } b \leq x \leq c \\ \frac{d-x}{d-c}, & \text { for } c \leq x \leq d \\ 0, & \text { for } x>d\end{cases}
$$

## 3. Main Results

Definition 3.1 (Fuzzy sets with Rearward membership function). Fuzzy Sets whose elements have degrees of membership function $\mu \in[-1,0]$ are called fuzzy sets with Rearward membership function. That is, a Rearward membership function of a fuzzy set $A$ is a function $\mu_{A}: R \rightarrow[-1,0]$. The absolute value of $\mu_{A}$ will be taken for deciding the belongingness of the elements to $A$.

Definition 3.2 (Rearward Fuzzy Numbers-RFN). A Rearward Fuzzy Number $A$ is a fuzzy set with Rearward membership function $\mu_{A}: R \rightarrow[-1,0]$ having the following properties:

- $A$ is a convex fuzzy set
- $A$ is normalized in the sense that $\left|\mu_{A}(x)\right|=1$, for at least one $x \in A$
- $\mu_{A}$ is piecewise continuous


Figure 3.1. Membership function and rearward membership function.
Definition 3.3 (Triangular Rearward Fuzzy Numbers -Triangular RFN). A Rearward fuzzy number $A=(a b c)$ is said to be Triangular Rearward Fuzzy Number(Triangular RFN) if its rearward membership function is

$$
\mu_{A}(x)- \begin{cases}0, & \text { for } x<a \\ \frac{x-a}{b-a}, & \text { for } a \leq x \leq b \\ \frac{c-x}{c-b}, & \text { for } b \leq x \leq c \\ 0, & \text { for } x>c\end{cases}
$$



Figure 3.2. Graphical Representation of Triangular RFN.
Definition 3.4 (Trapezoidal Rearward Fuzzy Numbers-Trapezoidal RFN). A Rearward Fuzzy Number $A=\left(\begin{array}{lll}a & c & d\end{array}\right)$ is said to be Trapezoidal Rearward Fuzzy Number if its rearward membership function is

$$
\mu_{A}(x)- \begin{cases}0, & \text { for } x<a \\ \frac{x-a}{b-a}, & \text { for } a \leq x \leq b \\ 1, & \text { for } b \leq x \leq c \\ \frac{d-x}{d-c}, & \text { for } c \leq x \leq d \\ 0, & \text { for } x>d\end{cases}
$$



Figure 3.3. Graphical Representation of Trapezoidal RFN.
Remarks. In Triangular Rearward Fuzzy Numbers $\mu_{A}$ is first monotonically decreasing from zero to -1 and then monotonically increasing to zero; In trapezoidal rearward fuzzy numbers $\mu_{A}$ is first monotonically decreasing from zero to -1 and then constantly moving horizontally in -1 up to certain distance and then monotonically increasing to zero.

Definition 3.5 (Mutated Fuzzy Numbers-MFN). A Mutated Fuzzy Number $A$ is a fuzzy set having two subclasses $A_{1}$ and $A_{2}$ with the first subclass $A_{1}$ is a fuzzy number and the second subclass $A_{2}$ is a rearward fuzzy number.

Definition 3.6 (Mutated Triangular Fuzzy Numbers). A Mutated Triangular Fuzzy Number is a Mutated Fuzzy Number $A=(a b c c d e)$ having subclasses $A_{1}=[a, b, c]$ and $A_{2}=[c, d, e]$ with

$$
\mu_{A_{1}}(x)- \begin{cases}0, & \text { for } x<a \\ \frac{x-a}{b-a}, & \text { for } a \leq x \leq b \\ \frac{c-x}{c-b}, & \text { for } b \leq x \leq c \\ 0, & \text { for } x=c\end{cases}
$$

and

$$
\mu_{A_{2}}(x)- \begin{cases}0, & \text { for } x=c \\ \frac{x-c}{c-d}, & \text { for } c \leq x \leq d \\ \frac{x-e}{e-d}, & \text { for } d \leq x \leq e \\ 0, & \text { for } x>e\end{cases}
$$



Figure 3.4. Graphical Representation Mutated Triangular Fuzzy Numbers.
Remarks. Here $\mu_{A}$ is first monotonically increasing from zero to 1 and then monotonically decreasing to -1 , again increasing to zero.

Definition 3.7 (Mutated Trapezoidal fuzzy numbers). A Mutated Trapezoidal Fuzzy Number is a Mutated Fuzzy Number having $A=\left(\begin{array}{llll}a & b & c & d\end{array} e f g\right)$ subclasses $A_{1}=[a, b, c, d]$ and with $A_{2}=[d, e, f, g]$

$$
\begin{aligned}
& \mu_{A_{1}}(x)- \begin{cases}0, & \text { for } x<a \\
\frac{x-a}{b-a}, & \text { for } a \leq x \leq b \\
1, & \text { for } b \leq x \leq c \\
\frac{d-x}{d-c}, & \text { for } c \leq x \leq d \\
0, & \text { for } x=d\end{cases} \\
& \mu_{A_{2}}(x)- \begin{cases}0, & \text { for } x<a \\
\frac{x-d}{d-e}, & \text { for } d \leq x \leq e \\
-1, & \text { for } e \leq x \leq f \\
\frac{x-g}{g-f,} & \text { for } f \leq x \leq g \\
0, & \text { for } x>g\end{cases}
\end{aligned}
$$



Figure 3.5. Graphical Representation Mutated Trapezoidal Fuzzy Numbers.
Remarks. Here $\mu_{A}$ is first monotonically increasing from zero to 1 after a horizontal movement in 1 , then monotonically decreasing to -1 , again after a horizontal movement in -1 increasing monotonically to zero.

### 3.8 Addition and Scalar Multiplication of Triangular Rearward fuzzy numbers

## Addition

Let $A=\left(a_{1}, a_{2}, a_{3}\right)$ and $B=\left(b_{1}, b_{2}, b_{3}\right)$ are two Triangular Rearward fuzzy Numbers. Then we can define the addition
$A+B=\left(a_{1}+b_{1}, a_{2}+b_{2}, a_{3}+b_{3}\right)$ and its rearward membership function as

$$
\mu_{A+B}(x)=\min \left(\mu_{A}(x), \mu_{B}(x)\right)
$$

Then $\mu_{A+B}\left(a_{1}+b_{1}\right)=\operatorname{Min}\left(\mu_{A}\left(a_{1}\right), \mu_{B}\left(b_{1}\right)\right)=0$

$$
\mu_{A+B}\left(a_{2}+b_{2}\right)=\operatorname{Min}\left(\mu_{A}\left(a_{2}\right), \mu_{B}\left(b_{2}\right)\right)=-1
$$

$$
\mu_{A+B}\left(a_{3}+b_{3}\right)=\operatorname{Min}\left(\mu_{A}\left(a_{3}\right), \mu_{B}\left(b_{3}\right)\right)=0
$$

Thus $A+B$ will also a Triangular Rearward fuzzy Number whose membership function can be defined as

$$
\begin{aligned}
& \text { SOME ARITHMETIC OPERATIONS ON REARWARD } \ldots \\
& \mu_{A+B}(x)- \begin{cases}0, & \text { for } x<a_{1}+b_{1} \\
\frac{x-\left(a_{1}+b_{1}\right)}{\left(a_{1}+b_{1}\right)-\left(a_{2}+b_{2}\right)}, & \text { for } a_{1}+b_{1} \leq x \leq a_{2}+b_{2} \\
\frac{x-\left(a_{3}+b_{3}\right)}{\left(a_{3}+b_{3}\right)-\left(a_{2}+b_{2}\right)}, & \text { for } a_{2}+b_{2} \leq x \leq a_{3}+b_{3} \\
0, & \text { for } x>a_{3}+b_{3}\end{cases}
\end{aligned}
$$

## Numerical Example

Let $A=\left(\begin{array}{lll}1 & 2 & 3\end{array}\right)$ and $B=\left(\begin{array}{ll}4 & 5\end{array}\right)$ are two Triangular Rearward fuzzy Numbers with $\mu_{A}(1)=\mu_{A}(3)=0$ and $\mu_{A}(2)=-1$ and $\mu_{A}(4)=\mu_{A}(6)=0$ and $\mu_{A}(5)=-1$

Then $A+B=\left(\begin{array}{ll}5 & 7\end{array}\right)$

$$
\begin{aligned}
& \mu_{A+B}(5)=\frac{x-\left(a_{1}+b_{1}\right)}{\left(a_{1}+b_{1}\right)-\left(a_{2}+b_{2}\right)}=\frac{5-5}{5-7}=0 \\
& \mu_{A+B}(7)=\frac{x-\left(a_{1}+b_{1}\right)}{\left(a_{1}+b_{1}\right)-\left(a_{2}+b_{2}\right)}=\frac{7-5}{5-7}=-1 \text { or } \\
& \mu_{A+B}(7)=\frac{x-\left(a_{3}+b_{3}\right)}{\left(a_{3}+b_{3}\right)-\left(a_{2}+b_{2}\right)}=\frac{9-7}{7-9}=-1 \\
& \mu_{A+B}(9)=\frac{x-\left(a_{3}+b_{3}\right)}{\left(a_{3}+b_{3}\right)-\left(a_{2}+b_{2}\right)}=\frac{9-9}{9-7}=0
\end{aligned}
$$



Figure 3.6.

## Scalar Multiplication

Let $A=(a, b, c)$ be a Triangular Rearward fuzzy Number and $\alpha$ is a nonzero scalar

Now $\alpha A=(\alpha a, \alpha b, \alpha c)$ with membership function $\mu_{\alpha A}(x)=\mu_{A}(x)$.
Thus $\alpha A=(\alpha \alpha, \alpha b, \alpha c)$ will also a Triangular Rearward fuzzy Number whose membership function can be defined as

$$
\mu_{\alpha A}(x)- \begin{cases}0, & \text { for } x<\alpha \alpha \\ \frac{x-\alpha a}{\alpha a-\alpha b}, & \text { for } \alpha a \leq x \leq \alpha b \\ \frac{x-\alpha c}{\alpha c-\alpha b}, & \text { for } \alpha b \leq x \leq \alpha c \\ 0, & \text { for } x>\alpha c\end{cases}
$$

## Numerical Example

Let $A=\left(\begin{array}{lll}1 & 2 & 3\end{array}\right)$ Triangular Rearward fuzzy Number with
$\mu_{A}(1)=\mu_{A}(3)=0 \quad$ and $\quad \mu_{A}(2)=-1 \quad$ and $\quad \mu_{A}(4)=\mu_{A}(6)=0 \quad$ and $\mu_{A}(5)=-1$ and take $\alpha=2$

Then $\alpha A=(246)$ with $\mu_{\alpha A}(2)=\frac{2-2}{2-4}=0, \mu_{\alpha A}(4)=\frac{4-6}{6-4}=-1 \quad$ and $\mu_{\alpha A}(6)=\frac{6-6}{6-4}=0$.


Figure 3.7.
3.9 Addition and Scalar Multiplication of Trapezoidal Rearward fuzzy numbers

## Addition

Let $A=\left(a_{1}, a_{2}, a_{3}, a_{4}\right)$ and $B=\left(b_{1}, b_{2}, b_{3}, b_{4}\right)$ are two Trapezoidal Rearward fuzzy Numbers. Then
$A+B=\left(a_{1}+b_{1}, a_{2}+b_{2}, a_{3}+b_{3}, a_{4}+b_{4}\right)$ and its rearward membership
function as

$$
\mu_{A+B}(x)=\operatorname{Min}\left(\mu_{A}(x), \mu_{B}(x)\right)
$$

Then $\mu_{A+B}\left(a_{1}+b_{1}\right)=\operatorname{Min}\left(\mu_{A}\left(a_{1}\right), \mu_{B}\left(b_{1}\right)\right)=0$

$$
\begin{aligned}
& \mu_{A+B}\left(a_{2}+b_{2}\right)=\operatorname{Min}\left(\mu_{A}\left(a_{2}\right), \mu_{B}\left(b_{2}\right)\right)=-1 \\
& \mu_{A+B}\left(a_{3}+b_{3}\right)=\operatorname{Min}\left(\mu_{A}\left(a_{3}\right), \mu_{B}\left(b_{3}\right)\right)=0 \\
& \mu_{A+B}\left(a_{4}+b_{4}\right)=\operatorname{Min}\left(\mu_{A}\left(a_{4}\right), \mu_{B}\left(b_{4}\right)\right)=0
\end{aligned}
$$

Thus $A+B$ will also a Trapezoidal Rearward fuzzy Number whose membership function can be defined as

$$
\mu_{A+B}(x)= \begin{cases}0, & \text { for } x<a_{1}+b_{1} \\ \frac{x-\left(a_{1}+b_{1}\right)}{\left(a_{1}+b_{1}\right)-\left(a_{2}+b_{2}\right)}, & \text { for } a_{1}+b_{1} \leq x \leq a_{2}+b_{2} \\ -1, & \text { for } a_{2}+b_{2} \leq x \leq a_{3}+b_{3} \\ \frac{x-\left(a_{4}+b_{4}\right)}{\left(a_{4}+b_{4}\right)-\left(a_{3}+b_{3}\right)}, & \text { for } a_{3}+b_{3} \leq x \leq a_{4}+b_{4} \\ 0, & \text { for } x>a_{4}+b_{4}\end{cases}
$$

## Scalar Multiplication

Let $A=\left(a_{1}, a_{2}, a_{3}, a_{4}\right)$ be a Trapezoidal Rearward fuzzy Number. and $\alpha$ is a non-zero scalar.

Now $\alpha A=(\alpha a, \alpha b, \alpha c, \alpha d)$ with membership function $\mu_{\alpha A}(x)=\mu_{A}(x)$.
Then $\alpha A=(\alpha a, \alpha b, \alpha c, \alpha d)$ will also a Trapezoidal Rearward fuzzy Number whose membership function can be defined as

$$
\mu_{\alpha A}(x)= \begin{cases}0, & \text { for } x<\alpha a \\ \frac{x-\alpha a}{\alpha a-\alpha b}, & \text { for } \alpha a \leq x \leq \alpha b \\ -1, & \text { for } \alpha b \leq x \leq \alpha c \\ \frac{\alpha d-x}{\alpha c-\alpha d}, & \text { for } \alpha c \leq x \leq \alpha d \\ 0, & \text { for } x>\alpha d\end{cases}
$$

## Numerical Example

## Addition

Let $A=\left(\begin{array}{llll}1 & 2 & 3 & 4\end{array}\right)$ and $B=\left(\begin{array}{llll}6 & 7 & 8 & 9\end{array}\right)$ are two Triangular Rearward fuzzy

Numbers with $\mu_{A}(1)=\mu_{A}(3)=0$ and $\mu_{A}(2)=-1$
$\mu_{A}(4)=\mu_{A}(6)=0$ and $\mu_{A}(5)=-1$
Then $A+B=(791113)$

$$
\begin{aligned}
& \mu_{A+B}(7)=\frac{x-\left(a_{1}+b_{1}\right)}{\left(a_{1}+b_{1}\right)-\left(a_{2}+b_{2}\right)}=\frac{7-7}{7-9}=0 \\
& \mu_{A+B}(9)=\frac{x-\left(a_{1}+b_{1}\right)}{\left(a_{1}+b_{1}\right)-\left(a_{2}+b_{2}\right)}=\frac{9-7}{7-9}=-1 \text { or } \\
& \mu_{A+B}(9)=\frac{x-\left(a_{4}+b_{4}\right)}{\left(a_{4}+b_{4}\right)-\left(a_{3}+b_{3}\right)}=\frac{9-11}{11-9}=-1 \\
& \mu_{A+B}(11)=\frac{x-\left(a_{4}+b_{4}\right)}{\left(a_{4}+b_{4}\right)-\left(a_{3}+b_{3}\right)}=\frac{11-13}{13-11}=-1 \\
& \mu_{A+B}(13)=\frac{x-\left(a_{4}+b_{4}\right)}{\left(a_{4}+b_{4}\right)-\left(a_{3}+b_{3}\right)}=\frac{13-13}{13-11}=0 .
\end{aligned}
$$



Figure 3.8.

## Scalar Multiplication

Let $A=\left(\begin{array}{llll}1 & 2 & 3 & 4\end{array}\right)$ be a Trapezoidal Rearward fuzzy Number. and $\alpha=3$ is a non-zero scalar

Then $\alpha A=\left(\begin{array}{lll}3 & 6 & 810\end{array}\right)$ is a Trapezoidal Rearward fuzzy Number.


## Figure 3.9.

### 3.10 Addition and Scalar Multiplication of Triangular and Trapezoidal Mutated fuzzy numbers

Since the Mutated Triangular (and Trapezoidal) fuzzy number gives two separation Triangular (and Trapezoidal) fuzzy number and Rearward Triangular (and Trapezoidal) fuzzy number, they are closed under addition and non-zero scalar multiplication.

## 4. Conclusion

A new concept of degrees of membership function of fuzzy numbersRearward membership function-has been defined and extended this idea to Rearward fuzzy numbers and then Mutated fuzzy numbers, in particular, Triangular rearward fuzzy numbers, Mutated triangular fuzzy numbers, Trapezoidal rearward fuzzy numbers and Mutated trapezoidal fuzzy numbers with their graphical representations. Addition and scalar multiplication of Triangular-Trapezoidal Rearward and Mutated fuzzy numbers are explained with numerical examples.

## References

[1] Angel Garrido, Classifying fuzzy numbers, Advanced Modeling and Optimization 13(1) (2011), 89-96.
[2] D. Dubois and H. Prade, Operations on fuzzy numbers, International Journal of systems science 9(6) (1978), 613-626.
[3] D. Dubois and H. Prade, Fuzzy Sets and Systems: Theory and Applications, Academic Press, New York 1980.
[4] G. Gerla, A Preservation Theorem for Fuzzy Number Theory, Information Sciences 45 (1988), 51-59.
[5] Hadi Nasseri, Fuzzy Numbers: Positive and Non-negative, International Mathematical Forum 3(36) (2008), 1777-1780.
[6] Martin Kalina and Alexander Sostak, Fuzzy Analysis and Related topics, Fuzzy sets and systems 105(2) (1999), 199-200.
[7] M. Clement Joe Anand and Janani Bharatraj, Theory of Triangular Fuzzy Number, Proceedings of NCATM-2017 80-83.
[8] A. Piegat, Cardinality approach to fuzzy number arithmetic, IEEE Transactions on Fuzzy systems (2005), 204-215.
[9] S. Rezvani, Multiplication Operation on trapezoidal Fuzzy Numbers, Journal of Physical Sciences 15 (2011), 17-26.
[10] B. K. Tripaty and S. Nanda, Absolute Value of Fuzzy Real Numbers and Fuzzy sequences spaces, Journal of Fuzzy Mathematics 8 (2000), 883-892.

